Geometry Review: Chapter 9 Properties of Quadrilaterals Name: qu/ Hr:

1. Parallelogram ABCD s shown. A o~ BIC D
a. Name the pair of triangles that can be ADAgZ A

established to be congruent to prove that E Correspomding L.
£ZDAB= /BCD = by CPCTE
b. Find BD.

Bp=2pE = 2(5)= (0 C

2. In parallelogram FGHI | diagonals /G and FH are drawn to intersect at point M |
Which of the following statements must be true?

F o

A) AFGI must be an obtuse triangle

B) AHGI must be an acute triangle

C) AFMG must be congruent to AHMG
CD/)' AGMH must be congruent to AIMF p & I

¥-opp. stda =
3. Using the propertles of parallelograms, find AB and AD ) C——
*{ oﬂ) 914(14 =) ABZ CP

Z /7]
?;-5;‘1*5: i / / =2(17)+§ =
. g -

Z
A-DLE—E?L-) +5= @

4, Which of the following l@'lr'va way to prove a quadrilateral is a parallelogram?
A) Show the diagonals of the quadrilateral bisect each other.
B) Show one pair of opposite sides of the quadrilateral are both parallel and congruent,
Show one pair of opposite angles of the quadrilateral are congruent.
D) Show both pairs of opposite sides of the quadrilateral are congruent.

—

5 Using the properties ofMﬁnd mzABC, m £ BAD, m«ADC, m«DAC.

ZDAC =2 BCH (A mynm,i bisect opp. Pm/ra{ a.nj/es
7v-22 =4y +I]

LPAC = L BA(

Tv-22 A s
3y = 33
v=Il , L PAC=7r-22 = 7(1{2/-22_ et
L BEA=4vHl =I55°1 o §
mARBC =90 - LBCA = GD-BE ij’g"

mBAD = RLDPAC = 2(55)= 1107
mei APC =2 L BCA= 2(35)=T70°



ok

6. Given the conditional stateme Maa&drilateral has perpendicular diagonals, then it is a rhombus.
Which of the following is a'counterexample to the statement above?

Rh&’mbwj d)@

: [
square R/.cl—zuuj e

rhombus c)

7. ABCD s a parallelogram. If adjacent angles are congruent, which statement must be true?
A) Quadrilateral 4BCD s a square. ( Somatimes, 071['3 fradyacent < d‘y a’f,"’k‘
B) Quadrilateral 4ABCD s a rhombus. con secutive =
@ Quadrilateral 4BCD s a rectangle. ( alwzyt)
D) Quadrilateral ABCD |5 an isosceles trapezoid.

8. TRAP s a@ith diagonals RP and TA . Which of the following must be true?
A) RPLTA y 7 R

D) RP bisects TA p A

9. Using the properties of parallelograms, findxandy Dl“a.(?mall bisect pachobier )
7x-3

7X-3=-4x+ 8 ) o.5y+8=17
(Lo = Af 0.5y: 9
m 0.5y+8 T :/132
0.5
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5 10.  Which figure can serve as a(counterexampl\é;to the conjecture below?

If one pair of opposite sides of a quadrilateral is parallel,

then the quadrilateral is a parallelogram. > eral{e{ojm need
A) rectangle | pair 0‘:{' opp- sides ] and =
B) rhombus

C) square
@)trapezoid (afu pa.'rcg °fP s 1deg ll)



11. In order to prove quadrilateral ABCD is a rectangle, what would have to be true?

A
9 ==
c —— O
A- AD|BC ang meB-s80" C. AD||BC 04 AD=BC
8. D|BC 4nq B0 (°) PDIBT 44 AD BG and
ms£B = 807
12, State all possible names of the quadrilateral below: /:am//g,/o gram
5] Ll
LI

: : Ls =)
13.  For the parallelogram below find xandy (" opp- prirs of =

= (49X -5 = 2x+ 55
2'5-9" 250 = 0'5_‘1 o g 2.5~ 250 +55 ‘
’—g = 146 14x-5 [X_:i
0.5y +42

14.  What formulas are needed to create a coordinate proof of a(parallelogram? )

A.) Slope formula to prove that opposite  C. Slope formula to prove that any two
sides are parallel consecutive sides form a right angle

B. Distance formula to prove that D. Distance formula and slope formula to
opposite sides are congruent prove that all sides are parallel and
congruent



15. Use the properties of a( isosceles trapezoid and
D

A

Lok

a. MLC=12x-2m&B=5%+26. find: mzB and mzD
me_ = m4~LB

MmeB =m4Lp
12X -2 = 6x+26

~2x-2
=28 = | 2{$-2
X =4 =|46°
b. AB=2y+5andCD=3y-1.Find length of AB,
AR <= CD AR = ZY +5
27‘!‘5: By-—’ :2(6)+5
)’ — 6 = 7
16. assume 9l 7 ang #lI/, Find the measure of the four angles marked on the figure.
> ABCD s a pam/k/ogm»z 2 D/s a/./-erna.fa /nd,
2X+14 = 3x-26 tod2x+ 1 )e—
X = 40 . LB is correspondiyf
me P = méﬁ;l;ﬂ-/t e I S'U-{’famﬁ"fm’_‘;(
= 2(40)+ 14 w26 ¢ to & (2x+14)
~[a%°] - £ ¢ (5 opposite to 44
mLA = m<~LC and = o
= (86— 94 :fﬁo/
17.  Inthe diagram below, parallelogram ABCD has A R
diagonals AC and BD that intersect at point E. Which
expression i@lways true? E
a. £DAE = £BCE
(bJAC = DB
¢. 2DEC = £BEA
d. DE = EB D c




